AF -

W H S S E YRR

(20224E %)
TiH 485 TR, Z4ehEgm
FEHI 060-EFIWEAE 5 3, 2 i R SCHE HLA. BO003—FFIE i 3 L FE i & 2 4 B
YT | &FEWE | SFEHT . PN
I ¥ ¥ IME | PITER 2%
FEERE B 45 45 45 10 |100.00% 10. 00
TiH %S .
figf e, AL EIR K 45 15 45 .
EGHEE & 0 0 0 —
HAh# 4 0 0 0 —
. TR H b S bR e A
e
ﬁ I T 5 = O R A A B\ AL S
. o e A g R HN R RERIESE, BRIRI R 2R,
iE ¥ G —‘é’ RS 00; THE ° 2 > s =} 2.
E ﬁﬁ{%% i{EWEﬁI}tﬂi)—ﬁE‘ %KIOO/ ﬁtﬂIéJi%ii(é%%ﬁﬂ f%%?fﬂi%ﬁﬁi$ﬂﬂﬁ”§}\mﬂgik%%fﬁ, f%ﬁﬁ?
2 A ELE AT B A T B R
| . . . SEFEFRPR [ , 2 R K 3 M B
—Z E'/\#é =LN :é =LAN e I8 TT B \ \
— 1 W /=
4 i 2 4 oK B U lgﬂ? ! 10 10
I
LR [=0 T
CERERG AEI5 FH %L _Bé' 2 136 10 10
TR H RYCEE % (%) =95Y% 95 5 5
(505) A a | SR 5
T
o TR H 5 L FEI L ’3%%)3 5 5
% g bR -
K skl P 202t | s | |,
*;: - JeE S 58 fabr
FASTE AR A B A (58D =457 71 45 10 10
o | PR TR AOMUBORTF IR, MR | momapr | i
T S i, . W | g | CRE | 10 | 10
F i 9% [ 2h
e SRS KRR TR B2 g HENPGE S | SEFEE | AR 10 10
RS ek B, RS A AP R e bz
(BOT8) [ 25 i v i T30 F A R Bt s Ak A oy | SO | et | -
fabr  |mRESE K fabs
2 9?;§2 . X ‘E»—'—» > ‘7ﬁ/ﬁ
A s i, wkmmnsetn | ey | SRl | 5 | s
VAR S e bl | 03 2 e e
gi(%? W‘ﬁg‘*ﬂ FA AR (%) =90% 90 10 10
Bay 100 | 100.00




UREERE

T H S SUE PR

(20224EFF)
5 44k T B AW = T IR 5 2 B
FEE] 060~ &7k L1 5 R4 & 1 R ST ALRE 0003~ &F 3k B e 5 TR R B 4 W
FHITHE | EFEWE | £FEPIT | e 4
Y i i SME | PUTER (¥
FEERE LD 85 85 85 10 | 100.00% 10. 00
TH %
If%;ié)ﬁ Hob AR B 85 85 8 -
LGS 0 0 0 —
Hofth 4 0 0 0 -
-
& U H AR e 5E ML
th (IR R o R, Jom T DL LA N LN 25 2R, b 1 |t W T 2 = 7 o b 2 2 B LM A 2
H A L7 Y A Y TR B 22 A T 3 i Fa a2 A E A2 B ST N B B R YRS - TRAR 72 4 25 4 |
e b N N .
| R =4 RIS lgmsem] o | my | WEREIIR
T 58 —16A/%k| 16 5 5
T R 22 4 AR 7 B RO — 4 /4 4 | |
e " = 1364°35,
ﬁ(iifg WE A 00 H B o 136 1 1
L =16 \/IK 16 1 1
R 22 4 AR 7 B R UK — 4 /4E 4 | |
W 3 :132"‘Iﬁ 136 | |
TR H AT AR =95% 95 2.5 2.5
& T G Fii 1)
B e am | PRIV 25 | 25
B | rEma e et >95% 95 2.5 2.5
G A ap | PRI 55 | s
) , — Q02274 | A UM
% o 25l
%E U N 0225 | B 5 5
3 e T Wi | 35U
b L P 20224F4F | BRI
20 N 0220 | B 5 5
e T Wi | AU
T B ) B Vo o frog 5 5
ﬁif*ﬁ T 5 = 7 IR (0 2 2 <8577t | 85 10 10
T R T T | IR A | AP
N 2 TR R 2 AW S B = 7 IR A R Rk %ﬂﬂ‘f e 5 5
s I Rl Bl I 5
\ ot e b ok T L | 50 0
. I PRETH T B 2 4 W B AR 45 /KT B S M R éﬁgx o 5 5
s 7N R =y _ 7 T S N
SIS AR |sut e et B KPR WIREERE | B | 5 5
AT g TR K TR o R sl 5
EAEE B e
b DU TR . AEK TR I AR ol R 5 5
A
258k 0
e s | v L ARTHEEE 0 =90% 90 5 5
LS L2l B L Y D) >90% 90 5 5
B4 100 100. 00




